Divide Decimals by 10, 100, 1,000

152 +10 = 4,560 + 10 =
152 +100 = 4,560 + 100 =
152 + 1000 = 4,560 + 1000 =
54,000 =10 = 36,000 + 10 =
8.7+10 = 43+10=
0.13+100 = 0.24 =100 =
13 +1000 = 24 + 1000 =
3.12 + 1000 = 4.54 + 1000 =
4031.2 + 100 = 3045.4 + 100 =
32.1+10 = 1.65+10 =
3632.1 +10 = 1.65 + 100 =
455 + 1000 = 4.3 +100 =

Go to onlinemathlearning.com for more math resources.




Divide Decimals by 10, 100, 1,000

152 +10=15.2

152 + 100 = 1.52
152 + 1000 = 0.152
54,000 + 10 = 5,400
8.7 +10=0.87

0.13 +100 =0.0013
13 +1000 =0.013
3.12 + 1000 = 0.00312
4031.2 + 100 = 40.312
32.1+10=3.21
3632.1 + 10 = 363.21

455 + 1000 =0.455

4,560 + 10 = 456
4,560 + 100 = 45.6
4,560 + 1000 = 4.56
36,000 + 10 = 3600
43+10=043

0.24 + 100 = 0.0024
24 + 1000 = 0.024
4.54 + 1000 = 0.00454
3045.4 + 100 = 30.454
1.65+10=0.165

1.65 +100 = 0.0165

4.3 +100=0.043
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